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(a) FMIZ T =23e THB. I #aHELEI.
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Rzl ¢ (s) A& 2 (m) fiiE y (m) WS v, (m/s) | X v, (m/s)
0 xz(0) =0.5 y(0) = 0.0 v,(0) = 0.0 vy(0) = 1.63
vz(5) = =04 | v,(5)=1.63
€
—0.959 1.196
2¢
—1.160 0.697
3e
—1.158 0.294
4e
—1.066 —0.005
D€
—0.936 —0.225
6e
= —0.636 =0.717 —0.792 —0.388
Te
—0.642 —0.509
8e
—0.491 —0.597
9e
—0.339 —0.659
10e
—0.186 —0.700
11e
—0.032 —0.720
12¢
= —1.131 = 0.002 0.123 —0.720
13e
0.283 —0.700
14e
0.446 —0.656
15€
0.614 —0.584
16e
0.785 —0.476
17€
0.958 —0.318
18e¢
= —0.488 = —0.689 1.121 —0.090
19¢
1.245 0.239
20¢
1.257 0.700
2le
1.003 1.264
22¢
0.343 1.667
23¢
— 0.506 — 0.067 Fokxok K FokAok K




